
�������2�
�����	
��
��������������������

�
2.����������������������� �

����������	�
���
�����������	������������������������������ ��!����
���
"�#
����$��
%&�������"���'��$(��	�"  )*�+
 (��������
�)
,��
,��-���  .�,��"�������	��	���-��$&����(����
!���/ �01,����$��#�����(��)�������������"� "
��
��
�

2.1.���������������
��
����
222!��)�����%��!2(Cost of production) 	1�2	���#�����!���2/2)
,%&�%��!�������01,�����"�$�.�,�

������3��	����1�'�����)
,!������2(�4��
����%��!) ��1�	���#�����)
,)�����$&�	��-��3��	����1�
'������0�,$-���2��1�	���#�����)
,)�������� ���5�#��-��3��	����1�'������0�,$-���2.�,�!��)�����
%��!��)������6��3!��2�����'��"���!��)�����%��!��"���!���2/2"
��
��

1���������
�����( � !"#$� %&'$)���1�������	���*�+  (,-/0 # $� %&'$)��$�� ��2!��)��)
,
!���������������3"�����.1�����4��
����%��!���'�		��1,�.�,���7��"�#
"���2�#��2	������(�����2	��
.��$(.$�	�1,���
��2	���
! �"�'2"���'
�������&�2	���#��2	��58�9�2����!��2��)��'
:#
�
��2���	����9
!��)����$
�0
��!��)������;)�
��0
��������"
���)���
��2(!���)������6��3!��������!��)��
)��!��������
�$���$�
�(���2�
��$� 1��������!��)�����%��!)
���$"22 

!��)��)��!��3�$�� ('���������22 ����;)2"
��
� 
- !��)��	�)
, (Fixed Cost) �$�� ��2!��)��)
,�#�����������3����3�,�������	��$3�"��

)
,����6��-�����%��!2.�,��$����
,��(�����!�$���������%��!2�#��2	��)
,"��2	���	�1,���
��(��
�����9����%��!2	���#��3���
����2����!�� 

- !��)��%
�(��2( Variable Cost) �$�� ��2!��)��)
,����	���#����������"���������!�$
���'�����%��!2.�,����
,��(�����!�$���������%��!2�#��2	������(�����2	���
! �"�'2	������2	��
�<<=�2	��.��$(.$(��'������
���2����!�� 

2���������
����3�4567 !"#$�%&'$)����"�������#�)�
0����2��1��4��
����%��!2.�,��$��"�
�������������!
���������/2(!�(�'(>���&�2��
�����2!��)���$�#
"(���2 (Implicit Cost)� .�,��$�� ��2
$&�	��)�
0����)
,!
������������-�����$��#��3
����2.�,�)������3
�5���3)
,���������"����"�
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������-��)�
0����������
�����(��%&��1,�2�#��2	��(�����!
����2����#�)
,��&����
�����3 ��
�����'���2	���31,�$��	�2����!���	�"����	���#����������%��!)
��3���2"
��
��2!��)��)
,�$�#
"(������
	�"�"����2	���3
�5���32(Opportunity Cost) 	1�2	���3
�3�����5�#��)
,	�����"��
'���5���3)
,"

)
,3�"2�#��2%&�%��!�#�'���)
,��&����
�-��!��������3 �������'���%��!3��	��(��'�����2�7!���	�"
���&�-��	���#��2"���'
��2!��"��	������(�������2����!�� 

���)
,�
�����6��3!�����	��$�$��-��!��)�����%��!��$�� ��!��)��)�����$2���)��
���!��)�����%��!)������6��3!��2(Economic Cost) 3&�����!��)�����%��!)��'
:#
2(Accounting 

Cost) "
��
��2�����)��'
:#
���(!�!����
'�����)������6��3!��  
 

2.1.8���������9:�;<��
���3�	�3����
'3��	��(��'�����#��"�"#��"���,�  �$�� ��2���$�93��	����1�'�����

#��"�"#��"���,�)
,%&�'��5;	!������.1��292��"
'��	�!���2/2-��3��	����1�'�����#��"�
��2/2��
��������)
,�����"  5"�	��$!������.1��-��%&�'��5;	��!�������	��$!������)
,$
������.1��"���  

(Purchasing power) �����	1�2%&�'��5;	��!���$
	��$�!7$��2 (Ability and Willingness) )
,��.1��(��
$
�����0
��0�)
,������.1��3��	����1�'������
��/�"�"��� 

�+(������3�	� (Law of Demand) ��'�������$�9-��3��	��(��'�����#��"�"#��"���,�
)
,%&�'��5;	!������.1�����$(��%
��
'��"
'��	�-��3��	��(��'�����#��"�
���3$�  ����+-�����
3�	�"
�������$��	��$���  �$1,���	�3��	��3&�-���%&�'��5;	��.1��3��	�������$�9������  (���$1,�
��	�3��	���"��%&����5;	��.1��3��	��$��-��� 

���3�	��$��"�-�����&��
'��"
'��	�-��3��	����1�'������0
��������"
��  (!��
�-�����&��
'
�4��
��1,�/2�
�$��$��  .�,��4��
�)
,$
%�!��������3��	��)
,%&�'��5;	!������.1����1��4��
�)
,�����"
���3�	�2$
"
��
� 

1. ���$�9.1��-�����&��
'��	�-��3��	���
��  �$1,���	�3��	���0�,$3&�-������$�9.1��3��	����
$
���� (!� ����	�3��	���"!,���� ���$�9.1����$
$�� 

2. ���$�9.1��-�����&��
'�3���$-��%&�'��5;	(��	��$���$-��	�3�����:���3
�	$  .�,�
�3���$�����
,��-����
'	��$�&�3�����$#$#�'#
,�-9����,�  3�$�� ���
,��(������������"��7�  

(!�'����9
	��$���$�
���7	���&����  3�,�)
,�����"�3���$-��%&�'��5;	2�"�(��2����  �0� 	��$�#1,�  

	�����$ ��������  (����)��0�-�����58�9�  �3���$����3�,�)
,$
%�!�����������	��  "
��
��2�����
�����������$)��$����������$����������58�9�2�01,���
�%���������
,��(����3���$��1�
$�?��
���7�01,��
����3���$-��%&�'��5;	���	��"�$�
,���� 



10 

3. ���$�9.1��-�����&��
'����"��?�
,�-��	�
���1��2�$1,����#���$
����"�5"��?�
,�3&�-���  

	��$!������3��	��(��'����������
,���� 	1�$
����"���'��5;	3��	����	� &�(��-9��"
���
�
�7�
���'��5;	3��	����	�(0� 

4. ���$�9.1��-�����&��
'��	�-��3��	���1,�/2)
,��
,��-���  !�$��!�	��$!������-��
%&�'��5;	���3����"�"���3��	������#��"   ��3��	��#��"���,�$
��	�3&�-���  %&�'��5;	�7��.1��3��	��
#��"�
�������� (���
���.1��3��	���
�#��"���,�.�,��#�)"()��
��"�  3����
'��9
-��3��	��)
,!���
�#������'�
� �#��2����$
��	�1,��(���3����� ����!�� �$1,�%&�'��5;	!������
,���3���������$
��	�1,�� 

�7��!������
,������$
��	�1,��"��� 

5. ���$�9.1��-�����&��
'*"&���  �#��2����)�)
,��&����-!����  �$1,������-��*"&����  

���#�#��������!����
"���	�1,��������$�
�����2)�����	��$!������3��	���	�1,���
�����!���/  

��#�������"
�������0�,$-��� 

���3�$�� (3"�	��$3
$0
�������������$�9.1���
'!
������"���3�	�������
�"���
<4���#
����3�	� "
��
� 

Qx         =   f (Px, T, Y, Py, S, …) 

 

�$1,�2 Qx  =222���$�9.1��3����
'3��	��2x  

Px    = 22��	�3��	�� x 

T   = 22�3���$-��%&�'��5;	22  

Y = 22��������?�
,�-��	�
���1�� 

Py  = 22��	�-��3��	���1,�)
,��
,��-���2  

S  = 22*"&��� 

 

8���=�������>������3�?����@A; 

0*!����$%&�'��5;	 �$�� �� ������)��-��'�		��"'�		����,�.�,���
,��-���5"�!���
'
����
"������"�$�(������#�.�,�3��	��(��'�����  )
���
��$����$ ��  ���'�����!
"3����.�,�$
$�
����(���(��$
3�������������"���$
������)��"
������ 

���'��5;	��)������6��3!��  �$�� ��  ����#����5�#�����3��	��(��'������01,�
3���!�'	��$!������-��$����� ��$ ��������3��	��(��'�����$��#����5�#���01,����%��!����
3��	��(��'������1,�/  �#�� ���0
�5��(�$2���)����)
,��2���-�3��2@�@  ���3����"����������)��
)
�������
�)�����3��	����1�'�����������"��������,�3������1�����01,��������5�#��(��$������$����
��5"�)��!����1�)�����$2 1��������'��5;	)
��3��� 



11 

����;)-�����'��5;	 ('��!�$�
��9�-��3��	��2('��������� 2 ����;)2	1�  

����
����@A;:��;�
B3C;���� (Nondurable goods consumption) 	1� ���'��5;	3�,�-��
#��"�"#��"���,�(���3�,�-��#��"�
����3������1����1��#��$"��  ���'��5;	�
��9��
���
�����2
destruction �#��2����$
��#1���0���2@�@   ������"�!,��2	��$3�$�� �����'��5;	�� &�����
"��2(��
 ��$
����"�3&� 	��$3�$�� �����'��5;	��3&�-��� 

8���
����@A;:��;�
;����(Durable goods consumption) 	1� ���'��5;	3�,�-��������"  

��������,�5"�3�,�-���
���
�	��#��"��
�2���'��5;	�
��9��
���
�����2diminution �#��2����#�� ��!�2
����!��2 ��($����3��	��	�)� 2�#��2� ��!�)
, �#�(����$��$"����)
�"
��2(!��7��	���/  3�������  

����)
,3�"���$�3�$�� ���$��#��"��
�  

)*�+
)������6��3!���#1,����%&�'��5;	$
	��$!�����������'��5;	3��	��(��'�����
������������� (!���1,�����%&�'��5;	(!������$
-������
"����1,��-��)�
0����  "
��
��%&�'��5;	��
$
���"
'���'��5;	������
�(!�!����
�  5"�	����� ����� ���5�#��3&�3�")
,!����"��
'  3����
'
���'��5;	3��	��	�)�.�,�3�����:���$
����#����)
,������(��$
��	�	���-���(0�  %&�'��5;	
�������!���	����� ��%����5�#����1�	��$0��0���)
,!�������"��
'���������$������!
"3����.1��  

�$1,����
�'�)
�'�
'3��	���1,�)
,!���.1���#����������� 
 

8���D����
����;�
�E<�
�+�
��
������4F 6G6# G0�H6G0I' ')�
������	����� )��"����������-��5	�����$
����"7�3��	
:)
,�����	�����2�"�(��2���

���	�����	���#�����-��5	������01,�"&	��$�������"��#��0�9�#��-��5	�����  ��1�"&������)��(��
%�!�'()� ��1�%������ �������)��-��5	����� 2�01,����	��������5	�����)
,�
")�� �
��	��$)��
��1��$�2 �
����������,�	1�2  ������	�����	��$!������)���������-��5	����������������2���
�
")��������$�9���	��$!������)���������-��5	������
������)���"�!���$1,�$
������	�����
)��"����)	��	2(��������	�����5	��3����)�����!��"-��5	�����2  (�����������3&�%��"�(��
	���#�����-��5	�����(���$1,����%��"�(��	���#�����$����
�'�)
�'�
�2  %�)
,�"��
��������	�1,��
#
������7����5	������"�'�����
! ����3�	���1��$� 

��9A�)
,�#������	�1,��$1����������$��5	�����2$
"
��
� 	1� 

1. 	�"	������(3��������
������3"-��5	�����2(Cash Flow)  



12 

����������	����� ������$����
��-�����(3����3"!���2/2-��5	�����2�
�
�����'"������(3����3"�
'2���(3����3"����2(�����(3����3"3�)��25"�$
	��$3
$0
���2"
��
� 
22���(3����3"3�)��22 =222���(3����3"�
'2–2���(3����3"���� 

.�,����	�"	�����)�����)��'����)���$����
��(�������-�")��-��5	�������(!���
�B2������%�!�'()�	��$	����1��$�22 

 

2.  $&�	���4���'
�-��%�!�'()�3�)��-��5	�����2(Net Present Value2��1� NPV) 

$&�	���4���'
�3�)��-��5	�����2	1�2$&�	���4���'
�-�����(3%�!�'()�3�)��2��1�
���(3����3"-��5	�����2.�,�	����9�"�"������)��3����"���(3%�!�'()�3�)��!��"����
-��5	������������$&�	���4���'
�2��1����	����9��  NPV2���	��$(!�!����������$&�	��
�4���'
�-�����(3%�!�'()���$(��$&�	���4���'
�-�����(3!��)����$2.�,�3�$�� �-
��3&!�
���	����9�"�2"
��
� 

     

NPV     =   
� ��

� �

�n

t
t
tt

r
CB

0 1
 

 

5"�)
,  NPV    =    $&�	���4���'
�-��%�!�'()�3�)��!��"����5	����� 

tB   =   2$&�	��%�!�'()����B)
,2t 

tC   =  22$&�	��-��!��)�����B)
,2t  
r  =    �
!��	�"�"2(Discount rate) ��1��
!��"���'
�� 

t   =    �B-��5	�����2	1�2�B)
,20, 1, 2, 3, …n 

n          =    ����-��5	�����  

��9A�)
,�#������!
"3���� 5"����0����9�$&�	���4���'
�-��%�!�'()�3�)��(NPV) $

	��$�������&���2(3"���������)����5	������
���"�%�!�'()�	��$	���
'�����)�� 

 

3. �
!��%�!�'()�;����-��5	�����2(Internal Rate of Return2��1� IRR) 

�
!��%�!�'()�;����-��5	�����2	1�2%�!�'()�����������!��5	�����2��1�2
�$�� ��  �
!��"���'
�������	�"�")
,)�����$&�	���4���'
�3�)��-��5	�����$
	���)���
'�&���2
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��������
!��"���'
��2��1�2�
!��%�!�'()�)
,)�����$&�	���4���'
�-�����(3����3"�
'3�)��
�)���
'$&�	���4���'
�-�����(3����3"����3�)��2"
��
��2	�� IRR2�����
!��3����")
,)�����5	�����$

	��$	��$)��  ��)���)
,3�"��$
�
!��"���'
����"
'���,�)
,)�����$&�	���4���'
�3�)��$
	���)���
'�& ���
0�"
2.�,��7	1��
!��%�!�'()�;����5	�����.�,�3�$�� 	����9�"�"
�3&!�!�����
� 
 

   � ��
� �

�n

t
t
tt

r
CB

0 1
   =    0 

   

"
��
��2 r ��3&!�2	1�2IRR 

5"�)
,             IRR         = 22�
!��%�!�'()�;������������)�� 

              tB     = 22$&�	��-��%�!�'()����B)
, t 
              tC     =   $&�	��-��!��)�����B)
, t 
               t    =  2�B-��5	�����2	1�2�B)
,20, 1, 2, 3, …n 

             n            =   ����-��5	�����25"�2�B)
,20 	1�2�B)
,$
�����)�����,$(�� 

��9A�)
,�#������!
"3����  5"����0����9��
!��%�!�'()�;����5	�����  (IRR) 

��$�
')��5	�����)
,)�����	��2IRR2$������	���3
�5���3-������)�� �
,�	1� 

1. ���5	������"���)��"�������)��-�����������220����9����
�'�)
�'�
!��
%�!�'()�-��5	�����2( IRR) )
,�"�2�
'	���3
�5���3-������)
,������$
��&���$�
'	��	��$�3
,��
-��5	�����2 ��%�!�'()���1��
!��"���'
������>��2��$�
'	��	��$�3
,��)
,	�"��������"-�� �2$

	��$�������
!��%�!�'()�-��5	�����2�7�$������)����5	������
��222 

2. ���5	������"���)��"�������)���������&�$�220����9����
�'�)
�'�
!��
%�!�'()�-��5	�����)
,�"�2( IRR) )
,�"�2�
'�
!��"���'
�������&�)
,���������&�$�2 ���
!��"���'
��
�����&�$�������
!��%�!�'()�-��5	�����2�7�$������)����5	������
��222 

 

4. �
!��3���%�!�'()�!��!��)��2(Benefit-cost Ratio ��1�2B/C Ratio)�
�
!��3���%�!�'()�!��!��)��2	1�2�
!��3����������%���$$&�	���4���'
�-��

%�!�'()��
'%���$$&�	���4���'
�-��!��)����$23����
'���	����9�01,����
!��3���
%�!�'()�!��!��)��2�-
������3&!������	����9�"�2"
��
� 
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B/C Ratio           =     PV of benefits 

          PV of costs 

                               
� ��

� �

n

t
t

t

i
B

0 1
 

 

             
� ��

� �

n

t
t

t

i
C

0 1
 

 

�$1,�22222 tB  =   %�!�'()����B)
,2t 
           tC  = 22!��)�����B)
,2t  
 i =   �
!��	�"�"2(Discount rate) ��1��
!��"���'
��2

            t =  2�B-��5	�����2	1�2�B)
,20, 1, 2, 3, …n 

n           =   �������B)
��3���-��5	�����2 
 

5. ������	�����	��$���!
�2(Sensitivity Analysis) 

������	�����	��$���!
�-��5	�����2����������	����� %�!�'()�	����9$����%�
	&9-����	��
'���$�9%�%��!2"
��
��2�$1,���	���1����$�9%�%��!���
,��(����� ���
3 �����9��"�$-��5	������7��)���������"���$$
������
,��(���2������	�����	��$���!
�!��
��!����
,��(��������������� ��	��$���!
�2��1�	��$��!�� ������
,��(���-��������!��)��
(��%�!�'()�-��5	��������$
%����)')��������"������
,��(����������2!��$&�	���4���'
�
-��%�!�'()�3�)��2 (NPV)2�
!��%�!�'()�;����-��5	�����2 (IRR)2(���
!��%�!�'()�
!��!��)��-��5	�����2(B/C Ratio) �

�01,������'���!
"3�����������)��2 .�,����5�#�����������	�����	��$���!
�!��
��!����
,��(����
�� 2��#������ %&������'���)��'���2	��	�'	�$!
�(��!
���� ���!
�(���$�
������!�$)
,���$�9��� 2��1,�����$
%����%�!�'()�3�)��-��5	��������
,��(�� �2.�,���#���
������"������5	�����$
���3�)��;�0��1�%�!�'()�)
,	��$	��$��-��� 

 

6. ��9A����!
"3������)��2(Investment decision) 

���!
"3������)��2�$�� ��2���!
"3�����������1��5	�������)�����	����)����
5	������"2��������%�!�'()�!�$!������25"���9A�)
,�#������!
"3����)�������)��)
,

=
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	����� ��	���3
�5���32�"�(��2 $&�	���4���'
�-��%�!�'()�3�)��2 (NPV)2�
!��%�!�'()�;����
5	�����2(IRR) �
!��3���%�!�'()�!��!��)��2(B/C ratio) 

%�������	�����5	�����)
,���!
"3������)��2�
,�	1�
- $&�	���4���'
�-��%�!�'()�3�)��2(NPV)2	��$
	��$������20
- �
!��%�!�'()�;����5	�����2(IRR) 	��$
	��$�������
!��"���'
������>��������

��1�$
	��$�������
!��"���'
�������&����4���'
�
- �
!��3���%�!�'()�!��!��)��2(B/C ratio) 	��$
	��$������21 

 

8�8�����:
�	
��
��������������������
�����������������
��1,�/20'���2�
��$�$
������
�)
,)����������������	�����!��)��(��

%�!�'()�)���������-��������������������������� ��!�5"�!��2(!�$
������
�)
,���	�����
!��)��(��%�!�'()�)���������-��5	������1,�2/25"�����������	�����)��"�����������01,���
$&�	���4���'
�3�)��2(Net Present Value) �
!��%�!�'()�!��!��)��2( Benefit – Cost ratio) �
!��
%�!�'()�;����2 (Internal Rate of Return) ��������	1�)��2(Payback Period) (�����	�����
	��$��!����!����9����
,��(���2"
��
� 

9JKK
��>��*���:�����(2540) 2)����������2������	�����!��)��(��%�!�'()�-�����
��)������!
�()���������� ��!����
���
"($�C���3��25"�$
�
! ����3�	�2	1�2�01,���������$�9
	��$!������� ��!����
���
"($�C���3��2(���01,������!��)��(��%�!�'()��������)������
!
�()���������� ��!����
���
"($�C���3��25"�0����9�������	����������)������!
�()�
��������� ��!��������23 ��9
2!�$3���('�����!��"2	1�2����9
-��3���('�����!��"	�"����
������230 ������235 (��������240 !�$���"
'25"�������	�����!��)�������"������������('������2
2 3���	1�2	���#������������)��2(��	���#����������"�����������1����'�����-��5	�����  

3����
'-��$&�"���%�!�'()�-��������('������23 )��2	1�2%�!�'()�������-��� ��!�2
%�!�'()�������'�������
����-��2(��%�!�'()��1,�/2 

%���������20'���2���$�9	��$!������� ��!����
���
"($�C���3��$
(��5��$
�0�,$-���)���B25"�$
�
!���0�,$-����?�
,�������27 !���B23�����������	��$�������"��������)��5"�
���
������	�����!��)��(��%�!�'()�0'���2�����)������!
�()���������� ��!�)
��23 ��9
$

	��$�������"����#������6��3!��(����$��3$(�������)���0���$&�	���4���'
�-��%��"�3�)��
-��5	����� (NPV) $�������&���2�
!��%�!�'()�!��!��)��2( B/C ratio) �
��$
	��$������21 (��
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�
!��%�!�'()�;����5	�����  (IRR)2$
	��3&������
!��"���'
�������&�3&�3�"2(��������	�����
	��$���!
�-��������0'���2����9
)
,$
����0�,$-��!��)��"���������)
,$
3���('�����!��"����
��230 5	�������)��)�!������0�,$-��!��)��"����������"��0
��2������24.81 �)���
��2��9
)
,$

3���('��!��"������235 5	�������)��)�!������0�,$-��!��)��"����������"�$�� ��������233.4 

(����9
)
,$
3���('�����!��"������240 5	�������)��)�!������0�,$-��!��)��"����������"�
 ��������262 !�$���"
'

 

��
�
�����	����
��(2546) 2)����������2������	�����!��)��(��%�!�'()������)��
-��%&������'���������� ��!�$1�3�����-!����;��$1��2�
���
"�#
����$�25"�$
�
! ����3�	��01,�
����$�� ��	��$�������"�-��5	�����5"����	�����!��)��(��%�!�'()������)��-��%&�
�����'������� ��!�$1�3�����-!����;��$1��2�
���
"�#
����$�22�01,����	�����	��$���!
�-��
5	�����225"�0����9�%����)'���������
,��(���"���!��)��(��%�!�'()�)
,���"-����
'
5	�����22(���01,�����(��)��3����
'%&�)
,3��������'���������	��� ��!�$1�3��25"���7'-��$&�
���(''3�' �$%&������'���������� ��!�$1�3��2(��)��������	������
!��%�!�'()����
�����)��25"�������	�����!��)�������"�������������"�$�������3�' �$-��$&������)�����
%&������'���������	��� ��!�$1�3��2���-!����;��$1��2�
���
"�#
����$�23����
'-��$&�"���
%�!�'()�-����������������"���������������� ��!�('������22 3���23���(��2�"�������
3�' �$-��$&�-��%&������'���������� ��!�$1�3��23���)
,22 �������$��$&�	��)��"���
%�!�'()�������0����9����$�9� ��!�$1�3������������210 �B

%�������	�����)���������20'���292�
!��	�"�"������27.25 �������
�$
	��$��$��3$
!�������)��2��1,�����$&�	���4���'
�-��%�!�'()�3�)��2(NPV)2$
	���)���
'21,482,386 '�)2�
!��
%�!�'()�;����5	�����2( IRR) ������245.22 $
	��3&������
!��"���'
�������&�3&�3�"2�
!��3���
%�!�'()�!��!��)��2 (B/C ratio)2�)���
'21.18 ��������	1�)��2�)���
'21 �B26 �"1��2(�����
���	�����	��$���!
�-��������0'���2������3�$�� "������������!�����"�2($����!��)��5	�����
�0�,$-��� ��������215 ��1�%�!�'()�-��5	������"�� ��������215 (���
!��	�"�"�0�,$-�������
������212 

��:�3
���A����Q���
�(2546) 2)����������2�4��
�3������3$)�����!��")
,$
��)��0�!��
���!
"3����.1��������� ��!�-��%&������'����&�.��$� ��!�������;��$1��2�
���
"�#
����$�22
5"�$
�
! ����3�	��01,�������4��
�3������3$)�����!��")
,$
��)��0�!�����!
"3����.1��������
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� ��!�-��%&������'����&�.��$� ��!�������;��$1��2�
���
"�#
����$�2)�������7'-��$&����
%&������'����&�.��$� ��!�������;��$1��2�
���
"�#
����$�2�#�3 �!�	��	��$ 
,2������(��	���?�
,� 

%���������0'���2�4��
�3������3$)�����!��")
,%&������'������	��$3��	
:��&���
��"
'$��2�"�(��2�4��
�"���%��!;
9A�2$
��)��0�!�����!
"3����.1��-��%&������'���)
,$
	���?�
,�
3&�3�"2�"�(��2���$
0�
����)
,3�$�� !�'3���	��$!������-���&�	���"���"��7�!�$)
,�&�	��
!������2�4��
�"�����	�2$
��)��0�!�����!
"3����.1��-��%&������'���)
,$
	���?�
,�3&�3�"2�"�(��2
������-��$&���	�-��3��	��(!�������;)2(���4��
�"���#���)������
"��������2$
��)��0�!�����
!
"3����.1��-��%&������'���)
,$
	���?�
,�3&�3�"2�"�(��2���$
3��	��0���$3����
'���-����&��3$�2
3����4��
�"������3���3��$���!��"2$
��)��0�!�����!
"3����.1��-��%&������'���)
,$
	���?�
,�
3&�3�"2�"�(��2���#
�#�����%&������'����&�.��$� ��!��1,�222 

 

3���
�:��Q
Q���(2547) 2)����������2������	�����!��)��(��%�!�'()�)���������
-��������	����
�� �
�������!�2���-!����;��$1��2�
���
"������25"�$
�
! ����3�	��01,������
���	�����!��)��(��%�!�'()�)���������-��������	����
�� �
�������!�2�01,����	�����	��$
���!
�!����!����9����
,��(���-������������	����
�� �
�������!�2�01,����������)��!���/2)
,
����	����
�� �
�������!��"����$��#��01,����������3�$�� "������&��"�����	)
,������(-��-
��
������
���(��2(���01,����	������4:��(�����3��	�����"���������-��������	����
�� �
�������!�2��
�-!����;��$1��2�
���
"������25"�������	�����!��)�������"�������������"�$����	���#����������
��)��2(��	���#����������"���������  3����
'-��$&�"���%�!�'()�-��������$
24 ����;)	1�2
����"���������������� �
�������!�����3"2����"����"���'
���
')
,�"��
'�������	����"2����"�
���	��.��$� �
�������!�2(������"��1,�2/2����������28 �B22 

%���������0'���2������	����
�� �
�������!�$
	��$	��$	��!�������)��2�����	1�2
$&�	���4���'
�-��%�!�'()�3�)��-��5	�����2 (NPV)2$
	���)���
'27,824,869 '�)2�
!��
%�!�'()�;����5	�����2 (IRR)2������247.32 �
!��3���%�!�'()�!��!��)��2( B/C ratio) 

�)���
'21.08 (��������	�����	��$���!
�!��������
,��(���-��5	�����2;���!�3 �����9�
3$$!�23 ��9
2	1�2��9
)
,21 �����"%�!�'()�	�)
,(��$
�
!��3����"������210 0'���2!��)��
-��5	�����3�$�� �0�,$-����"�3&�3�"�$�����������28 ������3�$�� "������������!�����"�5"��$�
-�")��2��9
)
,22 �����"!��)��	�)
,(��$
�
!��3����"������210 0'���2!��)��-��5	�����
3�$�� �"���"��$�����������27.5 ��)�����������3�$�� "������������!�����"�5"��$�-�")��2
(����9
)
,23 �����������
,��(���-��!��)��(��%�!�'()�25"��
!��3����"������210 0'���2
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!��)��-��5	�����3�$�� �0�,$-����"�3&�3�"�$�����������24 (��%�!�'()�3�$�� �"���"��$�
����������23.5 .�,�)�����������3�$�� "������������!�����"�5"��$�-�")�� 

 

+S
�� ���K:����T�(2552)2)���������� ������	�����!��)��(��%�!�'()�)���������
-���������
3���)(������,� ��!��'�������� ����;�($���� �
���
"�#
����$� 5"�$
�
! ����3�	�
�01,����	�����(������$�� ��	��$�������"��������)��-��5	������
3���)(������,���!��'���
�����2����;�($����2�
���
"�#
����$�(���01,����	�����	��$���!
�!��������
,��(���-��
5	�����2;���!�3 �����9�3$$!�23 ��9
25"������"���)
��23 ��9
2$
�
!��3����"�)���
'������27 

(�������"����-��5	�������������210 �B2!
��(!��B20.�.2552-2561 

%���������0'���2�����)����5	�����$
	��$	��$	��!�������)��2�����	1�2$&�	��
�4���'
�-��%�!�'()�3�)��-��5	�����2( NPV) $
	���)���
'211,586,781 '�)2�
!��%�!�'()�
;����5	����� (IRR) $
	���)���
'������230.73 �
!��3���-��%�!�'()�!��!��)��  (B/C ratio) 

�)���
'21.76  ��������	1�)��24 �B 2(�� %�������	�����	��$���!
�!��������
,��(���-��
5	�����;���!�3 �����9�3$$!�23 ��9
  "
��
�2��9
)
,21 �$1,�3$$!����%�!�'()�	�)
,20'���  

!��)��-��5	�����3�$�� �0�,$-����"�3&�3�" ��������276 ��9A����!
"3�����01,������)��	�
��$�
'�"�2��9
)
,22 �$1,�3$$!����%�!�'()��"�� (��!��)��	�)
,20'���  %�!�'()�-��
5	�����3�$�� �"���"�!,��3�" ��������243 ��9A����!
"3�����01,������)���
�	���$�
'�"�2
��9
)
,23 �$1,�3$$!����%�!�'()��"��(��!��)���0�,$-���20'���2%�!�'()�-��5	�����
3�$�� �"���"�!,��3�" ��������227 (��!��)���0�,$-����"�3&�3�"������227 ��9A����!
"3�����01,�
�����)���
�	���$�
'�"�2 
�
�
�
�
�
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